
Outdoor LED Display
LUX V2

Models:
LDC960667WPR-L2
LDC1280667WPR-L2
LDC480667WPR-L2

User Guide 04/23



This manual systematically introduces the product components, interfaces,
specifications, etc., as well as operating instructions for installation, functional use,
etc., designedto enableyou to usethe product quickly andefficiently;
This manual takesa4*3 engineering project asanexample andcanbeapplied to all
LUX 2 seriesengineering projects.

1



�Warning�

It is aClassA product that maycause radio interference in environment.

The probability of not getting the best display due to ignoring the precautions is
extremely high.
1) There is strong electricity inside, non-professionals are prohibited from opening

it;
2) Good ventilation on the back of the display must be considered when designing

thecooling solution;
3) The LED panel is designedfor branching power supply, andthe supporting power

supply certified by our companymustbeused;
4) Thedisplay should beequippedwith anaxial flow fan or air conditioning for heat

dissipation to ensurelong-term stablework of the product;
5) The product shall not be modified without permission, so as not to affect the

performanceandreliability of the product;
6) The averagepower of the display in normal use (normal display of pictures or

video signals) is about 20%-30%of themaximum power consumption (show full
white screenwith the highest brightness). Distribution power must be reserved
for the power distribution of the display based on the maximum power
consumption, rather than the averagepower consumption, soasto prevent that in
extreme cases(long time display of full white screenin the highest brightness)
power supply line heating brings hidden dangers;

7) The air inlet andoutlet for heatdissipation on the backof the display shall not be
covered and blocked, so as not to causepoor heat dissipation and overheating
protection;

8) The installation andconstruction processshall becarried out gently, bumping will
causedamageor deformation, which will lead to poor installation seams,damage
to display light panelor water leakage;

9) The door lock on theback of the display must be locked tight after installation is
completed to avoid damagefrom water leakage;

10) During the use of the display, please use our matching brightness sensor or
brightness timer to ensurethat the display keepsthe proper brightness during the
all-weatherwork, soasto avoid light pollution.

2



3



Table of Contents
I. Productfeatures ...........................................................................................................5
II. Cabinetcomponents...................................................................................................7
III. Productinstallation.................................................................................................. 8

3.1Tools andaccessoriesusedfor installation.......................................................... 8
3.2 Installation procedure ....................................................................................... 8
3.3 Signal connectiondiagram................................................................................11
3.4 Powerconnectiondiagram ............................................................................... 11
3.5 Installation environmentrequirements............................................................ 12
3.6 Sequenceofdisplay power onandoff ..............................................................12
3.7Checkbeforecommissioning ......................................................................... 12

IV. Softwaresystem .....................................................................................................13
V. Commontroubleshooting......................................................................................... 14

5.1Commonfaults of control system.................................................................... 14
5.2Commonfaults of hardware............................................................................ 15

VI. Partsreplacement ................................................................................................... 16
6.1 LED panelreplacement................................................................................... 16
6.2Adapter boardandbridge boardreplacement ...................................................17
6.3 Powersupply replacement ...............................................................................18

IV. Specialstatement ................................................................................................... 19

4



I. Product features

1) High-efficiency PFCpower supply andhigh-efficiency voltage
conversion techniques, as well as innovative LED panel circuit design, reduce
power supply current andtransmission loss;

2) All ROHS-certified raw materials, lead-free manufacturing process,undertaking
the responsibility of environmental protection, meet the requirements of
CCC,CQC,CE,ETL,FCC,CBcertifications;

3) 20bit color depth, 7680Hz ultra-high refresh rate, 15,000:1 high contrast,
10000CD /㎡ brightness(Note 1), ensuredisplay of color image in strong direct
sunlight anddark environment;

4) Only 68mm screen thickness and 20.5kg/cabinet weight save the cost of
steel structure andoccupy lessspace.Slim screenis integrated with the building;

5) Highly integrated minimalist power box design reduces internal connections,
devices and shell closely fit, ensuring uniform heat dissipation, and improving
productreliability;

6) Fully sealedcabinet (front andrear IP65), meetsthe requirements for usein harsh
environment, not afraid of wind andrain;

7) Fully compatible with front and rear maintenance,meet different installation
environments, outdoor naked-eye 3D arc, right-angle large display can be
customized;

5



8) Self-developed system, for convenient control on multiple terminals including
computer/PAD/mobile phone, MaxConfig intelligent control software, supports
one-click on screenfor remote program releasewhenever andwherever possible,
which is efficient andsafe;

9) Multi-terminal status real-time monitoring, and fault alarm, for peaceof mind
(Note 2).

Note 1: Brightness varieswith different configurations. Seeparametertable for details

Note 2: Hardwareenvironment support is required.

6



II. Cabinet components

LED panel* 6

Cable protection cover

Top positioningpin *2

Powerbox handle * 2

Power box

7



III. Product installation

3.1Tools and accessoriesusedfor installation

M8 hex socket head cap screws, 6mm Allen wrench, M10 hex bolts, 16mm hex
sockets,connection plate.

3.2Installation procedure

Precautions before installation: disassemblethewooden caseand take the cabinet out
of the wooden case.Take care to avoid bumping during the processto avoid damage
to the cabinet.
1 Customize the steel structure according to the sizeof the product to beinstalled.

2 Placethe first row of cabinet on the baseof the steelstructure, andfix the cabinet
with M8*40 hex socketheadcapscrews.

Steel structure

M8*40 hex socket
headcap screw

8



Note: The hex socket head cap screw here should be adjusted to ensure the level of
thefirst row of cabinet.

3 Between the two adjacent cabinets, use3 M8*40 hex socket headcap screws to
lock.

4 Follow stepsI andI to install the secondrow of cabinet.
5 Use the connection plate and M10*80 hex bolts to lock the adjacent 4 cabinets
by holding the squarepipe.

6 Follow the abovestepsto install all cabinets,and the overall installation effect is
shownasfollows:

M8*40 hex socket headcapscrews

Connectionplate

M10*80
Hex bolts

9



Front view

Back view
Note: The installation instructions in this manual are for reference only. For specific projects,

install accordingto theproject installation drawings.

10



3.3Signal connection diagram

3.4Power connection diagram

11



3.5Installation environment requirements

In order to ensure the stability and security of the system during operation, the
following suggestionsareput forward for theoperating environment:
1 Hardware environment: CPU dominant frequency > 2.0GHZ, memory > 1G,
discretegraphicscard,video memory≥ 512MB, andDVI or HDMI output port.
2 Software environment: Client operatingsystem:XP, Win7, Vista, Win8 or Win10,
etc.
3 Network environment: The network must be connected when the display is
calibrated online.

3.6Sequenceof display power on and off

1 Display power on: please turn on the computer first, enter the systemnormally,
andthen turn on theLED display power;
2 Display power off: first turn off the power of the LED display, then turn off the
control software,andfinally turn off thecomputer.

3.7Check before commissioning

1 Before powering on thedisplay, useamultimeter to checkwhether the live wire,
neutral wire, andground wire of theAC power input terminal areconnected;
2 Ensure that the ground wire is reliably connected to the earth and has an
appropriate distancefrom the neutral wire. The input power supply shall bekept away
from high-power electrical equipment;
3 Check whether the power cable and signal cable of the display are connected as
consistent with the systemconnection diagram;
4 When the three-phasefive-wire systemis usedfor power supply, the loadsof the
phasesshall be evenly distributed to ensure the three phasesare balanced as far as
possible;
5 The input voltage must meetthe cabinet voltage requirements.

12



IV. Software system

(1) LDC960LUXV2 seriesproducts only support maxconfig system;
(2) Control software

1 PCside (host) software name:MaxConfig
2 Mobile side software name: LedConfig, download address: App Store,
Google Play
Note: For specific software operation, please refer to the relevant software
instruction manual.

(3) Equipment operation andmaintenancemanagementsystem
Based on the IoT platform, the equipment management system supports
multi-terminal access,enabling uniform and efficient remote control andmonitoring
of equipment within enterprises, schools and other organizations.

13



V. Common troubleshooting

5.1Common faults of control system

No. Fault Solutions

1
Software
displays“No
Hardware”

Check whether the hardware device is powered on
andwhether the serial cable is properly connected.

2

Software
displays"No
panel
information"

If the display hasbeenconfigured with the panel
information, try to readit from thehardwareon the
display connection page.If the display wasnot
configured, configure panelinformation.

3 Display error

First, checkwhether the transmitter resolution on the
transmitter pageis the sameasthe output resolution.
If not, set the resolution to the same.

If the resolutions are the same,check whether the
parametersin the intelligent setting wizard are
correct.

14



5.2Common faults of hardware

No. Fault Solutions

1
Partof the
display is not lit
after power on

1 Checkwhether the network cable in the cable is
in poor contact.

2 Checkwhether the power cable in the cabinet is
in poor contact.

2

Screencrash
after replacing
themodule or
bridge board

Poweroff andthen restart thedisplay, so that the
bridge board readsmodule data again.

3
White stripes
appearin the
display area

Relocatethe moduleor bridge board in the fault
display area,thenpower off andrestart thedisplay.

4

Whole screenor
part of the
screensplicing
disorder

1 Check the ports connection sequenceof the
receiver on the display.

2 Check the connection sequenceof signal cables
on thedisplay.

15



VI. Parts replacement

6.1LED panel replacement

Illustrations Solutions & steps

Front maintenance

Backmaintenance

1. Find thespecific location of the

faulty panel;

2. The panel canbe removed by

rotating the6 side locks clockwise from

the backof the cabinet or the 6 side

locks counterclockwise from the front of

the cabinet;

3. Snapthe 6 side locks of the new

panel into the side lock mounting holes,

androtate the 6 side locks

counterclockwise from the backof the

cabinetor clockwise from the front to

install the panel

16



6.2Adapter board and bridge board replacement

Illustrations Solutions & steps

Backmaintenance

Front maintenance

After locating the faulty cabinet,

useaPhillips screwdriver to

remove the six setscrewson the

backor front, andtakeout the

power box.

17



After taking out thepower box,

removethe threeexternal flexible

flat cablesandpower cablesfrom

the fault adapterboard/bridge board

UseaPhillips screwdriver to

remove the set screws (the set

screws arecross-recessed panhead

screwsM3*6 combinedwith flat

spring washers).

6.3Power supply replacement

Note: The replacementof power supply must be carried out in the caseof power off.
Do not operatewith live power.

Illustrations Solutions & steps

Find out the cabinet corresponding

to the faulty power supply, turn the

power off, remove the 4setscrews

of the protection shell of the power

board

After replacing thepower supply,

install the setscrews

18



IV. Special statement
Intellectual Property Declaration: The hardware designand software program of this
product are protected by copyright. Reproduction of this product and the contents of
themanualwithout our authorizationwill besubject to correspondinglegal liability.
The contents and pictures in this manual are for reference only and do not constitute
anykind of commitment.
The company reserves the right to modify and change the appearancedesign of the
productwithout prior notice.
Note: HDMI, and HDMI logo are trademarks or registered trademarks of HDMI
Licensing LLC in theUnited Statesandother countries.

19


